Facalld des soaences macubly of Sowenc
fatrematiques et de statistique Mathematics ang Statistics

Test mi-session 2 1\"'[1'-1'1' 2784 A Midterm 2

Turée: 80 min Time: 80 min

T'lace: LPR 155 Flare, LPR 155

16 posvembre 2007 Iarh of

.I.r:'.-lj'l.-]_-.l -l :"] ..:_!{er‘-_e-
L0:00-11:420)

Prof.. Rémi Vaillancourn

Instructions:
(a) A lure Terme. Tout type de calouloirnes antorisé,
Closed bonok. ANl types of caleulalors are allowed,
(h) Hépondre sur le qguestionnaire. Béponscs numériques dans les boires,
Answer on the gquestion sheets. Fill-in boxes with numerical aziswers.
() Fes & guestions sont d'égale valeur,
All B gueastions bave the same walne.
(d} Donner le détail de vos calouls.
Show all compusation.
el Une fewille voulenr de tables sern disiribude.
A ome-paee table on colored paper will be distribitad.
(1) Touws les angles sent en BADTANS. Teeter el ujusier votre calculatrice.
All angles are in RADIAN measures. Teast and adjust vour caleulators,
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Sodt les points @/ Consider the points:
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Le polynéme dinterpolalion de Lagrange de degré n par ces points
The nith degres Lagrange interpolation polynomial through Lhese points:
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Le polyndme dinterpolation_newtonien aux diffirences divisées de deqré n par cos poinis
Lhe nth degree Newton divided difference interpolation polynomial through these points:
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/ Qu. 1. Trouner ln selulion géndrale.
Find fhe pgeneral solution.
" + 6y = 0.
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Qu. 2, Résoudre le probieme ¢ onleur initiale.

Solva the initial valnas problem.
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v Qu. 3. Trouner la solution géndrale

Find the general solution
ot

't [
v -2 +y=—.
x

1|_-:) (f:r:\lllru-:}ff e E'\-,:l"nc,*_:&:- PR ?-..-\], gciwﬁ‘ &= pa-"dH &ur«.&tm}';-
A Mo e + GG e

i e 2 e e v,
L = O = 1 N
1 ‘2--}14'?1 Q/ 15:4'1"3 [{:EE:( Ex}

A=)
: % ~ "cz,"“ "\ LT GY
AN

xL_,\ilq:LllE. ‘t'g.z\ﬁﬂ

s ik - b’ 4 )
\1 k”"Jrh'“l]':j {ﬁ"- J"',){ 2}95 C'E. l‘r""n =i
fvr'.z':‘+': X-Ea xg#‘rﬂi*?{{, ':"'jﬁ,: C +he {_‘:‘l o
! ! -~ \
“(%ﬁ"}: C,\-{-:, H-C‘Z"{i? Flaxe Kﬂ 7 = ( Y £ (—/\c\
: 3 )
T C.-:.a.f ri‘_-,fl"r ¢ %:(ei +€:-< % I‘Jrﬁ'é 1 ||-nx."-'{de_. C_, H |
L“Iﬁ T L ‘r-’lkﬂ; g +szr."rx alex g™ L i’“" :‘e‘; ":n i = f?( L
| s X PR 2 e 2R \|P )=~ Ve +In X XQ,
A fis . i 'H_' \
arifieKion 5 Y “ o ) )
. *‘-1;9: wxgt ) ! ?‘@}: relx *Meﬂﬁm\:&{g\

- ffg‘*q& ) F@aﬁﬁ-—ﬁ&
o (Ve e ) ThekX %e*

:.Xfﬁ_v



s <A Trowver la solution geénérle
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Find the general solurion.
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Ju. 5. Soit ia fonction: [ Censider the fanction: _
flz) = ™ coa3z.

Consbrudre le polyndme de Lagrange gu interpole Flx) mux nomnds:
Corsiruet the Lapranpe polynomial Uhet interpolates fiz) at 1he nodss:
=0, =03 z=0.6.
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Qu. 6. Compléler le tablean de différences dinisdes -
Complete the divided difference table:
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